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UNITED KiNGDOM

Kingdom of Great Britain and Northern Ireland
ern Europe. It comprises the island of Grea{

¢ United

. in West
Ul‘(: |:E:1ngla"d' scotland and Wales) and the northern One-
Bf“a";f . island of ireland (Northern Ireland), together with

many smaller islands.

ainland areas lie between latitudes 49°N and 59°N (the
emnd islands reach to nearly 61°N), and longitudes g°w

2°E.The Royal Greenwich Obse_rv.atory, near London, is the b
toﬁni;‘g point of the Prime Meridian. The United Kingdom
::s atotal area of approximately 245,000 km?,

The UK lies between the North Atlantic and the North Sea, %
and comes within 35 km (22 mi) of the northwest coast of |
France, from which it is separated by the English Channel.

It shares a 499 km international land boundary with the o
Republic of ireland. The Channel Tunnel bored beneath the
English Channel, now links the UK with France.

The physical geography of the UK varies greatly. England consists of mostly lowland terrain, with
upland or mountainous terrain only found north-west of the Tees-Exe line. The upland areas include
the Lake District, the Pennines, North York Moors, Exmoor and Dartmoor. The lowland areas are

typically traversed by ranges of low hills, frequently composed of chalk, and flat plains.
Scotland is the most mountainous country in the UK and its physical geography is distinguished by

the Highland Boundary Fault which traverses the Scottish mainland from Helensburgh to Stonehaven.

The faultline separates the two distinctively different regions of the Highlands to the north and west,
and the Lowlands to the south and east.

The Highlands are predominantly mountainous, containing the majority of Scotland’s mountainous
landscape, while the Lowlands contain flatter land, especially across the Central Lowlands, with
upland and mountainous terrain located at the Southern Uplands.

Wales is mostly mountainous, though south Wales s less mountainous than north and mid Wales,

 Norther Ireland consists of mostly hilly landscape and its geography includes the Mourne
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n in northern and western areas.
evis, in the Grampian Mountains, Scotlang
esinto England. The largest lake by Surface
ch Ness has the largest volume.

dimate change, in particular glaciatio

The tallest mountain in the UK (and British Isles)
The longest river is the River Severn which flows from Wal :
area is Lough Neagh in Northern ireland, though Scotland’s Lo

is Ben N
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(&) We don't know

2 The distance frem the UK to the coast of France is... \ \
fod Comel wikhen  3ekm of the rofth wetd

@) 499km. r
.35km. Coost QU o
(&) 150 km.
3. The UK is linkad to Erance through the Channel Tunnel. |
\\ "(\\e Qr\c\ \“
: femnd ol roed  erea B
% g:: gﬁhél: now Wnks, the QK Wt france
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(&) England.
5. The largest lake in the UK is in Wales. p
True. ﬁb‘f&*ﬂeb\& 2
xNed \ % N
. kYX\"\etn \ ‘Q:ae?% ;

(&) We don't know.

6. The tallest mountain in the UK is in Scotland.

True. _‘E‘b‘est NOUREN tn VK S Pen Neurs, \r\‘h@
False. mooReNs , Scottand
We don't know.

Escaneado con CamScanner



UNITED KINGOOY
6&6‘ = E.&'\U?“"do
= Compre nle

——

Com?t \Ses

To%{'(‘lxe(' :@J'«D 3
Retieen € e

E‘Q‘HQY\C\:

Ne ai= Cetco. de

Coost “Casta

Shares = AccioneS

Ejoundot\\ - Linle

Beneath - 60\)0

Physicol = Fswco

Ofond Ao

lowlard - Tesay Beyas
Typrcaly ~Tiercamerte
Sreapert\y #Frecreremedte
Composed = (ompoesie
Mainland = Tena Fime.

AARAA L AL LA LS hde

Escaneado con CamScanner



Majority ?Ma\\ouo:
+atter - Ho,\ F\cmo
feogs = Aoy de
filly = Mosloroso
Westem ~ Qeste
Soiface = So@etﬁ e

| m—




